110 1843

BNI IOL-719-002-2012

TEEX15: BNIOOAJ

21,2

SALLUrr

31,8

| [ b
ﬁ L I
181,5
166,9
6,5 M12x1
M12x1 (8x)
I 3 [ 1

®7.5

e @

Basic features

e
R
ek

Display/Operation

FARRTHAERER

B8R, 10-Link &5

AR, ERHE

Electrical connection

EOiEE
#&0O (com1)
8%, WREPE

Internet

2Nl

8x M12x1-fM, 5-&f, A-#wt%

M12x1-1E5E, 4-8f, A-4RhS
$EER 2 um / $8E 0.4 um

www.balluff.com

Functional safety

MTTF (40 °C)

10-Link

10-Link $%7E18 IDs

Subject to change without notice: 247635

@1
|
2
b b b B4 | b
30,5 25 25 25 1,8
Electrical data
156 (20 f&) 10-Link TheE B
BEEMI12 (418) l0-Link i, BB 1
I T{EEE Ub 18 - 30.2 VDC
oo ABTHERU
P p e DC 24V
e o= L
$2i8 Mdx6 |l UA, B1788 4A
HFIE 4B/i% US, EaIse 4A
cE SR mERaH 80 mA
UKCA BAR / BHRTER &
cULus
WEEE Environmental conditions
UL BARIERE 45°C
RRERE -25...70 °C
LED & BIRRE -5...70 °C
LED 4t BAEESEAR IP67, EFIZHIEEATIARE
LED %%t

3la

N/A

eCl@ss 9.1: 27-24-26-02
ETIM 6.0: EC001599
BNIOOAJ_1.4_2023-07-04

1/2



110 1843

BNI IOL-719-002-Z012
ETEE/XHE: BNIOOAJ

SALLUrr

Interface Material
10-Link fRZs 1.1 SEmE % BiE
ME 10-Link 1.1 SRR =
S COM2 (38.4 kBaud) BHRMH FKM 75
EResE, &0 55 ms REPHH Cu 15 um
IRERm AR 8x 1EHE, TR /15, TR/ Ni 15 pm
#t, JBFE (0-10V/-10-10V/0 -
5V/-5 - 5V/5 - 10 V/4 - 20 mA/O Mechanical data
- 20 mA/Pt100/Pt1000/J BIENEE
B/K BUZAEE(E) B B 2 12 EE
EFEmER, &0 55 ms R~ 68 x 31.8 x 181.5 mm
IBFZER IN 22 Byte A EE 4 M4 PIBRAY
BIZEHR OUT 1 Byte
Range/Distance
ST < 16 Bit AT
Remarks
2 REZERMA

B MTTF & Blod HIERAER, %258 MTTF/B10d B8

LEERFRIR L9 MTTF / B10d B E AN BIRGE W E MM SR / SEATE | SERKRE ITERYARITHORYN, SEBELTNEBHIRERR
HAFREYEE R ES AR IR A,

Connector Drawings

2
3 550 4 o
5 OOO f 3 L
4
1SR A\ U O |O-Link
PIN 1: +24V, 150mA PIN 1 : +24V
PIN 2 : B\ 2 PIN 2 : K&
PIN 3 : GND PIN 3 : GND
PIN 4 : B\ 1 PIN 4 : C/Q, 10-Link DU i&i&

PIN 5 : RiE

2/2
Internet www.balluff.com eCl@ss 9.1: 27-24-26-02
ETIM 6.0: EC001599

BNIOOAJ_1.4_2023-07-04

Subject to change without notice: 247635



